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BEANRE A F04%F B AP RE (RE BUKE RS BR (- 1 4m) B SRR

4 [ I - KA BT #H =2 B * H =
BiEREE 29, 930, 980
HMSIFEER 29, 930, 980
HMSIFEER 29, 930, 980
MSEE 29, 693, 580
EEER 509, 434
1 FE%ERE 1.00 509, 434 509, 434
=
MSEE 21, 641, 663
2 Eig - iBE 1.00 767,047 767, 047
8
3 MKEEW —XRFE mAMQIR) 54. 60 45, 893 2,505, 757
km
4 BSIEE2) —RiFE mAR (12TX) 64.70 45, 893 2,969, 277
km
5 MSEEQ) —XRFE FAMQIR) 96. 10 50, 992 4,900, 331
km
6 HSIFE @) —RiFE FAR(2IRX) 107. 90 50, 992 5,502, 036
km
1 WMSEE®6) HREE FARQIR) 43. 40 50, 992 2,213,052
km
8 MKIEE (6) BRZEE FAR12IRX) 54. 60 50, 992 2,784,163
km
fRMT 7,542, 483
9 BHRMEMT 247. 40 30, 487 7,542, 483
km




BEANRE A F04%F B AP RE (RE BUKE RS BR (- 1 4m) B SRR

% L B - Bk By B B B i & = HOE

BEERE 237, 400
RE 200, 000
10 XERRGE 1.00 200, 000 200, 000

=
Z0hs 37, 400
11 EIXERE TR THE 1.00 37, 400 37, 400

=




WIER HH4EEEPIMBRERKEROMBEC14mESRE

% g R - KSR Bifr B 2 B i & B W =
ERAEE 18, 765, 630
ERE 18,765,630 x 61.9% — 1,554 11,614,370
REEHE 18,765,630 + 11,614,370 30, 380, 000
B R 10, 965, 350 + 200, 000 11, 165, 350
EEAGE 10, 965, 350
EERE 200, 000
T DR 10,965,350 x 53.85% ( 35% + (1 — 35%) ) 5,904, 840
RHRIE 11,165,350 + 5,904, 840 17,070, 190
—REEES 17,070,190 x 53.85% ( 35% + (1 — 35%) ) — 2,487 9,189,810
BEHES T 17,070,190 + 9,189, 810 26, 260, 000
KBS 30,380,000 + 26, 260, 000 56, 640, 000
HEREELE 56, 640,000 x 10.00% 5, 664, 000
HRREXB(IEE 56, 640,000 + 5, 664, 000 62, 304, 000




REAR-ET/Avr—> AF14%E E P R RO 1 4mBE SRR

H#5 1
275 REER
2 b g - BIRTE By o = B 4 ) W = " =

FEHRAR (F%ET)

A 2.50 58, 600. 00 146, 500
AR (A)

A 2.50 51, 200. 00 128, 000
HEm (B)

A 2.00 41, 600. 00 83, 200
RIS HRER

A 2.00 42, 200. 00 84, 400
Bl S H A

A 2.00 32, 400. 00 64, 800
MR 2E0%

% 0.50 506, 900. 00 2,534
& B 1E%HeH - 1.00K 509, 434. 00 509, 434
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HN4EEEPIMERERKEHR OB - 14mBE IR E

&5 :2
25 EilE - BE IED)
2 b g - BIRTE By = B ® W = " =
REE S4 kY 2L
B 2.00 3, 306. 00 6,612/2.00H / 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
5fin D 200PSEY
B 0.50 184, 739. 00 92,369/6.00H / 8H
HAEER FRP
B 1.50 58, 410. 00 87,615 8H
FEHRAR (F%ET)
A 1.50 58, 600. 00 87,900
AR (A)
A 2.25 51, 200. 00 115, 200
HEm (B)
A 1.75 41, 600. 00 72,800
RIS HRER
A 1.00 42, 200. 00 42,200
Bl S H A
A 1.00 32, 400. 00 32, 400
BEBF
A 3.00 31, 100. 00 93, 300
BIEHEE
A 3.00 25, 400. 00 76, 200
MM 2E0%
% 5.00 730, 521. 00 36, 526
& B 1YE%HEH - 1.0048 767, 047.00 767, 047
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HN4EEEPIMERERKEHR OB - 14mBE IR E

&5 :3
2% MSIEEN) —XEE mARQIX) 1B&HY (14km)
2 b g - BIRTE By = B ® W = " =
REE S4 kY 2L
B 1.00 3, 306. 00 3,306/2.00H / 8H
5fin D 200PSEY
B 1.00 184, 739. 00 184,739 6.00H / 8H
HAEEM FRP
B 1.00 58, 410. 00 58, 410 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
BERIREE 15m  100kHz
B 1.00 9, 256. 50 9, 256
FEHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 1.00 41, 600. 00 41, 600
RIS HRER
A 2.00 42, 200. 00 84, 400
Bl S H A
A 1.00 32, 400. 00 32, 400
BEBF
A 1.00 31, 100. 00 31,100
BIEHEE
A 1.00 25, 400. 00 25,400
M 2E0%
% 2.00 629,911. 00 12,598
& B YEZRESN - 14.00km 45, 893. 00 642, 509
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HN4EEEPIMERERKEHR OB - 14mBE IR E

Hz5 .4
£ MSEEQ —XEE mAR(2IR) 1BEY (14km)
2 b g - BIRTE By = B 4 ) W = " =
REE S4 kY 2L
B 1.00 3, 306. 00 3,306/2.00H / 8H
5fin D 200PSEY
B 1.00 184, 739. 00 184,739 6.00H / 8H
HEAH FRP
B 1.00 58, 410. 00 58, 410 8H
WSIEERER WMSIEEETRIEE O /L, HEIEes. EkER
B 1.00 23,925. 00 23,925
GNSS:AIfI £ & DGNSS
B 1.00 25,575.00 25,575
BERIREE 1AM 100kHz
B 1.00 9, 256. 50 9, 256
FEHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 1.00 41, 600. 00 41, 600
RIS HRER
A 2.00 42, 200. 00 84, 400
Bl S H A
A 1.00 32, 400. 00 32, 400
BEENF
A 1.00 31, 100. 00 31,100
BIEHEE
A 1.00 25, 400. 00 25,400
M 2E0%
% 2.00 629,911. 00 12,598
& B YEZRESN - 14.00km 45, 893. 00 642, 509
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HN4EEEPIMERERKEHR OB - 14mBE IR E

&5 :5
2% MSIEEQ —XEE RARQCIRX) 1BHY (12.6km)
2 b g - BIRTE By = B ® W = " =
REE S4 kY 2L
B 1.00 3, 306. 00 3,306/2.00H / 8H
5fin D 200PSEY
B 1.00 184, 739. 00 184,739 6.00H / 8H
HAEEM FRP
B 1.00 58, 410. 00 58, 410 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
BERIREE 15m  100kHz
B 1.00 9, 256. 50 9, 256
FEHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 1.00 41, 600. 00 41, 600
RIS HRER
A 2.00 42, 200. 00 84, 400
Bl S H A
A 1.00 32, 400. 00 32, 400
BEBF
A 1.00 31, 100. 00 31,100
BIEHEE
A 1.00 25, 400. 00 25,400
M 2E0%
% 2.00 629,911. 00 12,598
& B YEZRESN 1 12.60km 50, 992. 00 642, 509
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HN4EEEPIMERERKEHR OB - 14mBE IR E

&S5 :6
£ MSREEWG —XEE RARA2IR) 1BHY (12.6km)
2 b g - BIRTE By = B ® W = " =
REE S4 kY 2L
B 1.00 3, 306. 00 3,306/2.00H / 8H
5fin D 200PSEY
B 1.00 184, 739. 00 184,739 6.00H / 8H
HAEEM FRP
B 1.00 58, 410. 00 58, 410 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
BERIREE 15m  100kHz
B 1.00 9, 256. 50 9, 256
FEHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 1.00 41, 600. 00 41, 600
RIS HRER
A 2.00 42, 200. 00 84, 400
Bl S H A
A 1.00 32, 400. 00 32, 400
BEBF
A 1.00 31, 100. 00 31,100
BIEHEE
A 1.00 25, 400. 00 25,400
M 2E0%
% 2.00 629,911. 00 12,598
& B YEZRESN 1 12.60km 50, 992. 00 642, 509
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&5 .1

2% MEBREG) HREE AARQIRX)

HN4EEEPIMERERKEHR OB - 14mBE IR E

1HHY (12.6km)

£ b 3R - ks B £ B £ & = 5 =
RBE SA4 kR 2L
=] 1.00 3,306. 00 3,306/2. 00H / 8H
31t D 200PSE!
=] 1.00 184, 739. 00 184,739 6. 00H / 8H
EESMH FRP
=] 1.00 58, 410. 00 58,410 8H
MSIFEE RS MSIEEREED L. BIES. 2ES
=] 1.00 23, 925. 00 23,925
GNSSAI I E DGNSS
=] 1.00 25,575.00 25,575
BERIREE 1AM 100kHz
=] 1.00 9, 256. 50 9, 256
FIEHEEM (575
A 1.00 58, 600. 00 58, 600
BEm (A)
A 1.00 51, 200. 00 51, 200
HER (B)
A 1.00 41, 600. 00 41, 600
RIS HRER
A 2.00 42,200. 00 84, 400
BIEHEE
A 1.00 32,400. 00 32, 400
BEENF
A 1.00 31,100. 00 31,100
BIEWENE
A 1.00 25, 400. 00 25, 400
MR =730
% 2.00 629, 911. 00 12,598
A& § EEREN : 12.60k m 50, 992. 00 642, 509




Rifiz -/ \v7r—o

HN4EEEPIMERERKEHR OB - 14mBE IR E

&5 :8
£ MKIEE6) HEREZEE AARJ2IR) 1BHY (12.6km)
2 b g - BIRTE By = B ® W = " =
REE S4 kY 2L
B 1.00 3, 306. 00 3,306/2.00H / 8H
5fin D 200PSEY
B 1.00 184, 739. 00 184,739 6.00H / 8H
HAEEM FRP
B 1.00 58, 410. 00 58, 410 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
BERIREE 15m  100kHz
B 1.00 9, 256. 50 9, 256
FEHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 1.00 41, 600. 00 41, 600
RIS HRER
A 2.00 42, 200. 00 84, 400
Bl S H A
A 1.00 32, 400. 00 32, 400
BEBF
A 1.00 31, 100. 00 31,100
BIEHEE
A 1.00 25, 400. 00 25,400
M 2E0%
% 2.00 629,911. 00 12,598
& B YEZRESN 1 12.60km 50, 992. 00 642, 509
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HN4EEEPIMERERKEHR OB - 14mBE IR E

59
B . BREN 100km= Y
2 b g - BIRTE By = B O ® # " =
FEHRAR (F%ET)
A 12.00 58, 600. 00 703, 200
AR (A)
A 16. 00 51, 200. 00 819, 200
HEm (B)
A 16. 00 41, 600. 00 665, 600
RIS HRER
A 8.00 42, 200. 00 337, 600
Bl S H A
A 8.00 32, 400. 00 259, 200
BEBF
A 8.00 31, 100. 00 248, 800
MR 2E0%
% 0.50 3,033, 600. 00 15, 168
& B YEZERES : 100.00k m 30, 487. 00 3,048, 768
&5 :10
2% EBHRRA 1LY
2 b g - BIRTE By = B O ® # " =
EBHRERERE
= 1.00 200, 000. 00 200, 000
& Hi 1E%HeH - 1.00K 200, 000. 00 200, 000
&5 11
&% EIKREHRE E-4YVIJRE 1LY
2 b g - BIRTE By = B Ol ® # " =
EZAYUTRE
= 1.00 37, 400. 00 37, 400
& Hi 1E%Heh - 1.00K 37, 400. 00 37, 400




